i i Inter. (Part-11)-A- 2018 -

Roll NO.__, . to be filied in by the candidate. (FOT all Sessions) Paper Code 8 1 9 1

‘Mathematics (Objective Type)

Time: 30 Minutes 2\» p P ’ 2-' o lg ” Marks: 20

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1S () =Vx+d o f(x2+4) is equal to:
() X -8 @) V¥’ -8 ) Vx'+8 (o) ¥ +8

sin7x
2. IC_':'O is equal to:
(A) 1 By 7 ' €) 7 (D) 0
d 5
3 ZJ;COS ¥ is equal to:
(A) —sin’ x (8) 2sin x ©) 2sinXCcOS X (D) —2cosxsinx
1 xX X X
g A +E+ E+E """" is Maclaurin series of-
x ; CcOSX fn(l+
A © g) ¥ () o )
dy
Y. A St
5 X=al",y=2al . xS equal to:
1 |
! = = —
{A_) R - B) _ (C} (D) g
. 5 : ; _
6. Ex_ ax + b | is equal to:
-1 —u ; ;
(a) &b B) (ax+b) © (ax+b) oy “olamt)
7. If y =sin3x, then V; is equal to:
(A) 9sin3x (®8) -9sin3x ©) 9cos3x ) ~9Qcos3x
P
8. 6[ ;1 —x? & 1s equal to:
T /g T Vs
(A) 5 B 5 € 4 O ¢



Q«p -lL-)d

9. Solution of the differential equation T T EOSX

(A) y=sinx+c (B) y=-sinx+c (C) Y =cosx+c (D) y:fn(sini‘)+c

10. .l'e'-a'“ (Secz x)dx is equal to:

(A} eta:l_r+c

(B) € -tanx+c (C) € .secx+c o) € *c
2
11; GJ‘(Y +l)dx is equal to:
3 1 5 s
A 10 (B) 3 €) 3 O 5.

(A) orthocentre

(C) ex-centre (D) centroid
2 2
13. The lines represented by @& +2Ax) +5y” =0 00 roal and coincident if:

(A) h' > ab

(B) h 4+ ab (C) h <ab (D} W=a+b
14. Equation of the line bisecting the first and third quadrant is: |
() r=* | F () Y=x+e () =€
15. Slope of the line which is perpenfiicular to the line 2X ~4y+11=0 is:
I ]
5 ol D) -
(A) 5 (8) 5 (C) 2 (D) -2
16. Point (1, 2 ), satisfies the inequality.
(A) 2x+y>5 (B) 2x+y2=5 (C) 2x+y<3 (D) 2x+y<5
2 2
17. The centre of the circle (x+ ) +(y-2)" =16 , equals. |
) (3.-2) m (-3,2) - © (3.2) o (-3.-2)
18. The eccentricity of-y— =1 equals. '
2. = Vs V5
(A /5 B) /5 € »° _ o 5
19, 20.(3/%k) i
{A) 0 (B) 2 {C) 4 D) 6
0. cosd eq'uhals to; o - ) (‘ngl
(A) a.b (B) |a><b' () axbh
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Section -1

2. Write short answers of any eight parts from the following. 2x8=16

-1 _ 3
i. Prove the identity sec /1%x = 1 —tanh? x. i Find /(x)it/ (x)=3x"+7

fimit sin x _ x = 2x 1
iti. Evaluate ot iv. Differentiate w.r.t , m
L@y = . ) . .2 . 4
V. Flndg g xy+y = 2. vi. Differentiate sin” x w.rt cos x.
. : 5 -1 X 3 ; ; \F
vii. Differentiate €05 " wib® . S il Differentiate(fnx) wrt x.
! l dy
ix. Find / (x) if f(x) =x e~ X. Find?d; if y=xvlnx

1
xi. Find Yz, if J’=J;+7—;

xii. Determine the interval in which function is increasing or decreasing

“(+) — . -7/
for the mentioned domain.f (x) g OB EL X E( A > A)

3. Write short answers of any eight parts from the following. 2x8=16
: -
i. Evaluate: Ix(‘f;”)dx_ i, Evaluate: I 5 dX
I+x
-2x <1
iii. Evaluate: 4— 2 dr‘ : iv. Evaluate: Ie (—Jrfmc)dx_
—~% X
2x WL
I ... ; _ j 3+l |dx
V. Evalugte. '[1 ~EE vi. Evaluate: -1[ ;
vii. Define the definite integral. viii. Solve the differential equation yex +xdy =0 .
<
ix. Define the corner point. x. Graph the solution set of linear inequality2x+y - 6.

’ 2
Xi. Findawv and@iny=x"+2x , when X changes from 2 to 1.8.

xii. Find the area between the ¥ — axis and the curve ¥y =X’ +1fromx=1tox=2.



/ 4. Write short answérs of any nine parts/ from the following. ﬁ\bpv" }2_- { Q 2x9=18
i. Find 4 such that A(—l h), B(3, 2) an C(? 3) are collinear.

ii. Find the centroid of the triangle having Jert:ces -2 3) (—4 1) and (3 5)

iii. Find an equation of the line through (—5} -3) and (9 ,=1).

iv. Flnd the lines represented by the homqjgeneous equation 3x” + Txy+2y* =0

v. Find measure of the angie between thé lines represent byx —-Xy-—- 6y2 =0.
/
vi. Find the equation of circle with centreJ (\5 > "3\5) and radius 2\/-2_ )
vit. Find the condition that the line .V = X +¢ may touch the circle x° + y* = a*

viii. Derive equation of eflipse in standard form.
.f‘
. ; 2
ix. Find centre and foci of the X _J’f =9
X Lefg_zi+2i‘§ and ¥ = 35'—!{2Jj+2f£ find|U +2V|.

/
xi. Find @ | so that!a{'+(a+1)l-?:‘2kl::3

xii. Find a vector perpendicular to /éach of the vectors =2+ j+k angb=4i+2j~k

xiii. Find the value of 2i X 2iﬁ ;f
,-' Section -II

Note: Attempt any three queg{ions from the following. 10x3=30

figy 1300 sin &
5. (a) Evaluate: 570 sian

& _y
(b) Show that 7, ~

(b) Minimize z=AX+ y subject to the constraints 3x + Sy =15 , x+6y=9,x20,y>0.
8. (a) Find an eqyfation of barabola if focus is (“"3,1) , ﬁirectn‘x y=1

{b) Use vectofs to prove that the diagonals of a parallelogram bisect each other.
9. (a) Find the ce tre, foci, eccentricity, vertices and directrices of 9x° + ¥y =18,

(b) Prove that Sin (a "‘ﬁ) =sina cos S+ cosasin Vi) by using vector method.

622-012-A-



